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“Opening Children’s Eyes to the Wonderful World of Possibility”

Look, Cover, Write, Check:
How to Effectively Learn and Recall Powerful
Knowledge

D \ 1y Pick a section of your powerful knowledge sheet and
read it aloud or write it down several times. Try to
pick a section you’re least confident with.
’, —\ \

Cover up the section you want to test yourself on,
ﬁi} either with a piece of paper or turn the page over so
— you can’t read the content beneath.

=],
— Write out the powerful knowledge you can recall on
p— a separate piece of paper.
=" Trying to recall the knowledge out loud can also be
effective.
Check the knowledge you have recalled against your
V powerful knowledge sheet and repeat until you are
confident recalling the section.
/ Aim to spend 10 minutes on this at a time
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English Powerful Knowledge-

Y10

Vocabulary Definition

An Inspector Calls

REMARKABLE

Capitalism Economic and political Dramatic Irony | When the audience know more
system, in which a country's than the characters
trade and mdUSt.ry are Foreshadowing | A warning or indication of a
controlled by private owners

, future event
for profit.

Socialism Economic and political Euphemism A mild or indirect word/phrase
theory which supports which is substituted for one
production, distribution and which is considered too harsh
exchange should be owned .

) Colloquial Informal language
by a community as a whole Language
(shared resources). guag
.. . mbolism The use of objects/characters to

Omniscient All knowing Symbolis . jects/ .

represent ideas or qualities

Prejudice A preconceived opinion Fragmented Broken up speech
which is not based on Speech
reason or actual experience — -

The Three A set of principles for dramatic

Moralistic Making moral judgements Unities structure that govern the action,
about the behaviour of time and place of a play
others

Narcissisti Having or showing an

arcissistic g . g. Context
excessive interest in oneself
and one's physical Post-War Britain: Written in 1945 but set in 1912, the
appearance play contrasts the pre-WW!I optimism and rigid class

Misogynistic Strongly prejudiced against system WI‘th t‘he r‘ealltles of two world w.ars and societal

change, highlighting the need for collective
women I
responsibility.
Bourgeoisie Middle-class, typically with . -
g VP . Y Socialism vs. Capitalism: Priestley, a socialist, critiques
reference to perceived o e . .
terialistic values/attitudes capitalist greed and individualism, advocating for social
ma equality and collective welfare. This reflects the growing

Hubris Excessive pride call for change in post-war Britain, including the

establishment of the welfare state.

Hypocrisy CIalrglni to hzvcla. hflgh:r Class and Inequality: The play exposes the exploitation
standards or beliefs than you of the working class by the upper classes, using Eva
actually do Smith as a symbol of the oppressed and the Birlings as

Humanitarian | A person who seeks to representatives of privilege and moral failure.
promote human welfare Generational Divide: Priestley emphasizes the hope for

change through the younger generation (Sheila and Eric),
contrasting their growing sense of responsibility with the
stubbornness of their parents.
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English Powerful Knowledge-
An Inspector Calls

Definition

Viocabulary Definition Technigue

rir ?l"‘ll.'ll ety Jlly

Capiétalizm £comomic and palitical Dramatic rony | When the audience know mare
sysiem, in which a countmy's than the characters
trade ard industry are

orroled e Foreshadowing | A warning or indication of a
contr by pri aWNErs Fustuare evend
for profit.

Sodalsm Ecomomic and palitical Euphemism A mild or indrect word/ phrase
thieary which supports which is substituted for ane
praduction, distributian and which is corsidered too harsh
mchange should bm semed ol ooy akkad Infarmal language
oy 3 camemueiiby as ashole La
{shared resourpes). .

Symboksm The use of objects/characters to

Omniscient All knowing d fects/

represent ideas or gualites

Prejudice A preconceived opmian Fragmented Broken up speech

which is mot based on reason Specch
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HT2

Maths Powerful Knowledge
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Maths Powerful Knowledge
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— Maths Powerful Knowledge

Evert: ore. or more outcomes from an experment

Outcome: the. resul of an experment

Intersection: lemenis [parts) that are common to both sefs

Uniory the combination of elements n two sefs

Expected Vale: the vave/ aufcome that a predclion would susgest uou wil g2t
Uriversal Set: the sef that hoe ol the elemenis

Siptematie: ordenng valies or autcomes with a strateay and sequence
Product: the arswer when two or more valies are mutipled together

Key Terms
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Displacement reactions

In a displacement reaction a move reactive element takes the
place of a less reactive element in a compound,
For example:

Reactivity and ions

The reactivity of a metal is how chemically reactive The reactivity series places metals in order of their reactivity. A metal's reactivity depends on how readily it
itis. When added to water, some metals react very forms an ion by losing electrons.
vigorously - these metals have high reactivity. Other = Sometimes, for exampie n the table below, hydrogen and

metals will barely react with water or acid, or won't
react at all - these metals have low reactivity.

(%]
(]
()
e
O
-
~
* v Iron is more reactive than copper, so iron displaces the copper in At the end of the reaction you are left with iron (D)
Reactivity series copper sulfate. fons, not copper lons, (@)
potassium | ] Ner lonic equations (HT only) Steps for writing an ionic @
S de sodi reactivity : —
T 2 ; — When an ionic compound is dissolved in a solution, we can write equation (HT only) Q
the compound as its separate ions. For example, CuSO, (aq) can 1 check symbol equation is balanced (@]
e be written a5 Cu’* (aq) and SO** (3q). IV 2 identity all aqueous ionic compounds =
i off e W The displacement reaction of copper sulfate and iron can be 3 write those compounds out as ions L
re. ey .Na.\ﬂ..‘_v: M written as: 4 remove spectator ions, n
Tag Fels) + Qui*(aq) + SO {aq) == Fei*(ag) + SO~ (ag) + — ()
iron .M Cufs) Reduction and oxidation: S
ct Lo m arbo The SO, Is unchanged in the reaction - it is a spectator ion. electrons (HT only) o
- lead ) 3 )

4 ’ 84 gno.._gasgoi:oa.vng.os.on‘g; Oxidation and red tadak tiaitionsy chR >
copper equation: be defined in terms of axygen, but can also be (-
. 57 Jas Fe(s) + Cu'*(aq) = Fe'" (aq) + Cu(s) defined as the loss or gain of electrons. )
gold < low Metals, covalent substances, and solid lonkc substances do not Oxidation is the loss of electrons, and reduction is O

resctivicy split into ions in the ionic equation. the gain of electrons.

carbon are included in the series, even though they are
non-metals.

copper sulfate + iron = iron suifate + copper
CuSO, (aq) + Fe(s) = FeSO (aq) + Culs)

-

In the displacement reaction of copper sulfate
and iron, iron forms an ion more easily than

copper.

In the example displacement reaction:

iron atoms have been oxidised

Reduction and oxidation
copper lons have been reduced.

Metal extraction
Some metals, like gold, are so unreactive that they are found as pure

Half equations (HT only)

If a substance gains oxygen in a reaction, In the displacement reaction, an iron atom loses two electrons

metals in the Earth's crust and can be mined. it has been oxidised. to form a iron ion:
Most metals exist as compounds in rock and have to be extracted If a substance loses oxygen in a reaction, Fe(s) = " {aq) + 2¢ |
from the rock. If there is enough metal compound in the rock to be it has been reduced. Acids arec ds that, when dissolved in

worth extracting it is called an ore. A copper lon gains two electrons to form a copper atom:

Metals that are less reactive than carbon can be extracted by

water, release H' ions. There are three main

* For example:

on gy Cu*(aq) + 2¢° = Culs)

acids: sulfuric acid H S0, nitric acid HNO , and

reduction with carbon, For example: 4
s ; iron has been oxidised These two equations are called half equations - they each show hydrochloric acid :n.r. fak vkian o
Iron ondde + Carbon = iron + carbon diovide half of the ionic equation. Alkalis are ¢ i that, when in
Metals that are more reactive than carbon can be extracted using a fron oxide + carbion = iron + carbon dioxide water, release OH ™ ions.
process called electrolysis. iron oxide has been reduced The pH scale is a measure of acidity and alkalinity,

It runs from 1 to 14,

* Aqueous solutions with pH < 7 are acidic.
* Agqueous solutions with pH > 7 are alkaline.

Science Powerful Knowledge
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When acids react with metals or
metal compounds, they form salts.

ydrochione ackd

Asalt is a compound where the

HC

HNO,

hydrogen from an acid has been
replaced by a metal. For example

Haa (1

H" and NO,

nitric acid, HNO,, reacts with sodium

metal sutate

to form NaNO,. The H in nitrk acid
is replaced with Na.

The table shows how to name salts.

sodum nitrate.
NaNO

Indicators can show if something is an acid or an alkali,

*  Universal indicator can also tell us the approximate pH of a solution.
* Electronic pH probes can give us the exact pH of a solution.

* Aqueous solutions with pH = 7 are neutral.

. .

. .

- . ed
. o ¥

The pH scale
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Science Powerful Knowledge

A system is an object or group of objects.

Whenever anything changes in 3 system, energy is
transferred between its stores or to the surroundings.

energy an object has because itis
kinetic moving
gravitational  energy an object has because of its
potential height above the ground
elastic energy an elastic object has when it is
potential stretched or compressed
energy an object has because of its
temperature (the total kinetic and
potential energy of the particles in the
object)
energy that can be transferred by
chemical reactions involving foods,
fuels, and the chemicals in batteries
energy stored in the nucleus of an
atom
energy a magnetic object has when it
is near a magnet or in a magnetic field
energy a charged object has when
near another charged object

thermal (or
internal)

-

chemical

Examples of energy transfers

When you stretch a rubber band, energy from your chemical
store is mechanically transferred to the rubber band’s elastic
ooﬂ:.&_ store.

When a block is dropped from a height, energy is
mechanically transferred (by the force of gravity) from the
block’s gravitational potential store to its kinetic store.

When this block hits the ground, energy from its kinetic
energy store is transferred mechanically and by sound waves
to the thermal energy store of the surroundings.

Work done

Aclosed system is one where no energy can escape to or
enter from the surroundings. The total energy in a closed
system never changes.

Energy transfers

Energy can be transferred to and from different
stores by:

Heating
Energy i transferred from one object to another
object with a lower temperature.

Waves
Waves (e.g., light and sound) can transfer energy.

Electricity
An electric current transfers energy.

Forces (mechanical work)

Energy is transferred when a force moves or
changes the shape of an object.

3

The electric current in a kettle transfers energy to the heating
element’s thermal energy store. Energy is then transferred by
heating from the heating ok 's thermal energy store to
the thermal energy store of the water.

When an object slows down due to friction, energy is
mechanically transferred from the object’s kinetic store to
its thermal store, the thermal store of the object it is rubbing
against, and to the surroundings.

When an object is moved by a force work is done on the object. The force transfers energy to the object. The amount of energy
transferred is equal to the work done. You can calculate the work done (and the energy transferred) using the equation:

@ work done (J) = force (N) x distance moved along the line of action of the force (m)

An object’s gravitational potential energy store depends
on its height above the ground, the gravitational field
strength, and its mass.

grivttational vitational

potential =mase (kg) x ?i 2&&: x height (m)

An object’s kinetic energy store depends only on its mass
and speed.
kinetic evergy (J) =

0.5 x mase (ka) x (speed)” (mv's)

The elastic potential energy store of a stretched spring can

be calculated using:

elastic potential
eneray (J)

0.5 x spring constant
5 (N/m) x (extension)* (m)

E = ke

{assuming the limit of proportionality
has not been exceeded)

4

Power is how much work is done (or how much energy is
transferred) per second. The unit of power is the watt (W).

1 watt = 1 joule of energy transferred per second

chemical closed system dissipated efficiency clastic potential electrostatic
gravitational potential kinetic lubrication magnetic nuclear power
streamlining system thermal work done

Useful and dissipated energy

mgﬁnggnﬁiﬁao&i .:!.ozﬁx.
ly, stored, or dissipated {

energy tramderred
by gt maves

recgy
transfesred to the

Energy is never 3:3.« 53.3& usefully - some
energy is always dissi gitis f to
less useful stores.

All energy eventually ends up transferred to the thermal
energy store of the surroundings.

In machines, work done against the force of friction
usually causes energy to be wasted because energy is
transferred to the thermal store of the machine and its
surroundings.

Lubrication is a way of reducing unwanted energy
transfer due to friction.

Streamlining is a way of reducing energy wasted due
to air resistance or drag in water.

[(99]
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Use of thermal insulation is a way of reducing energy
wasted due to heat dissipated to the surroundings.

Efficiency is a measure of how much energy is
transferred usefully. You must know the equation to

calculate efficiency as a decimal:
efficiency = 2oeful output eneryy transfer (J)
Y= ol nput energy transfer (J)
1)
=

To give efficiency as a percentoge, just multiply the
result from the above calculation by 100 and add the %
sign to the answer,
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GCSE History  Paper 2: Early Elizabethan England KT2: Challenges at Home and Abroad
Cuestion types
key Terms
‘Describe two featuras of " [4]
Rewnlt of the Northern Earls Privateers _ Pirates whose activities are lagal and in service of the Crown 12 % 2 =4 marks total)
Revolt An uprising or rebellion against the monarch The Spanish Armada Identify 2 feotures ond support with evidence.
Useful phrases: “One feature was...”
Earl A senior noble wha played an important role in geverning England Gravelines. & town on the border of France and the Spanish Netherlzands “For example "
Mass & Catholic church service Galleon Large but slow fighting ships used by the Spanish
“Explain why... [12]
The Cathalic Plots Flaat The group of ships 3 PEE paragraphs about the reasons for an
Plot A plannzd rebellion or attack - normally one which is not carried out | Fire Ships Unmanned ships loaded with explosives and sent into the Spanish fleet mcm:nxn}uzm@@amuu. The parographs must show a
lirk ta the question.
Double Agent | Someane who pretends to be on one side but is actually on the other Reasons for the Failure of the Armada Useful phrases: “This shows that...because..”
. ) ) ) . . ) ) . ) ) “Another regson is...this is becouse...”
Epymaster Francis Walsingham, Elizabeth's chief spy responsible for her security | Cadiz Spain's main western port —the site of much of the Armada preparations
IBsits Extreme Catholics carmying out the wishas of the Pope Tilbury The south-gastern part from wher Elizabeth spoke and inspired her flaet || *How far do you agree.’ [16]
A balanced answer discussing both sides of the
Incriminzte To find evidence of someong’s involvement in a crime Admiral The mast senior commander of 3 fleet argument with an overall conclusian.
Reasons for the Spanish Armada Comptradler somecne who supervizes the financing and organisation of 3 project S um_um.,.nu__m e
“Some might agree that..”
New World _ The continents of Morth and South America — dominated by Spain Glorizna The image of Elizabeth as diving, powerful and in cortrol “This is shown by..."
= 3 7 7 -
r Fal 9 r Szmple exam questions
i l ] o= 1 _ ‘Describe two features of the Revolt of the Morthern Earls in 1560°. [4]
; = i ‘Describe twiz features of the Ridolfi Plot of 1571". [4]
i | y - ‘Describe twa features of the Throdkmorton Plot of 1583, [4]
s ] " \ ‘Describe twi features of the Babington Plot of 158", [4]
] o .. 4 ‘Describe two features of the Walsingham's methods of catching Cathalic plotters'. [4]
[ oM \ SPANISH | A% ‘Describe two features of the execution of Mary, Queen of Scots in 1587°. 4]
b,..am;zn FENGLAND-NETHERLANDS ‘Describe twi features of English involvement in the Spanish Metheriands'. [4]
" o ?H..r : ‘Describe two features of Spanish preparations for the Armadz’, [4]
e s g Y " ‘Describe two features of Drake's raid on Cadiz'. [4]
f i M B = Rovle of 1 Spashh Ammeds ‘Describe twi fieatures of the Spanish plan to invade England in 1583, [4]
i BB ®  stoms ‘Describa two fatures of the English defence against the Armada in 158" [4]
.ur_wa.u.. Baltes ‘Describe two features of the leadership of the English fleet in 1588". [4]
Controlied by Phillip I ‘Describe two features of the Spanish flizet in 1568 [4]
FRANCE ‘Explain why the Revolt of the Northern Earls took place in 1585°. [12]
. ‘Explain wiy the Ridolfi Plot of 1571 increased tension between Protestants and Catholics.” [13]
(Y ] ‘Explain why the Throckmearton Plot of 1583 was a threat to Elizabeth’. [12]
_m.f._, b ¢ ‘Explain why Sir Francis Walsingham was effective at dealing with Catholic plots between 1573 and 1586 [12]
: P g Y \ by ‘ 4 ‘Explain why Philip Il ordered the invesion of England in 1588 [12)
.v ﬁ N TRy p ‘Explain why Elizabeth autharisad intervention in the Metherlznds betwesn 1578 and 1588, [12]
iy ‘Explain why the Spanish Armada was defested in 158" [13]
14 L M
4 G ! | f.. .
¥ w P "Political grievances were the main cause of the Revolt of the Northern Earls in 1569”. How far do you agree? [16]
| S el “The Babington Plot was the greatest threat to Elizabeth's rule in the period 1589-85". How far do you agree? [16]

“The exzcution of Mary, Queen of Soots was the main reason for the Spanish Armada in 1588". How far do you agree? [18]
“Effiective leadership was the main reason for English victory over the Spanish Armada in 1588". How far you do you agres? [18]
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GCSE History

Paper 2: Early Elizabethan England

KT2: Challenges at Home and Abroad

Lord Charles Howard

Lord Howard was a cousin of Queen Elizabeth
and Earl of Mottingham. Through his family
connections he achieved the rank of Lord High
Admiral of the English fleet. However, he was a
natural born leader with an excellent tactical
mind. and was a deserving leader of the English
tefence. His most notable contribution to the
tlefeat of the Armada was the decision to send
fire ships towards the Spanish fleet He was
responsible for the larger part of England’s fleet.

Sir Francis Drake

Sir Francis Drake was the greatest sailor alive.
He was the first captain fo successfully
crcumnavigate the globe in 1580, and inspired
such terror in the Spanish that they nicknamed
him ‘El Drague’ — the Dragon. He had been very
successful in stealing Spanish treasure and had
made Elizabeth lots of money — one notable
capture paid off England's entire national debt.
He was born to humble origins but rose up the
ranks through his talent. His men zdored him.
He was second in command of England's forces.

Medina Sidonia was not 3
e‘@ natural choice to lead an
imeasion fleet. He had never fought at sea
before and complained of seasickness and colds.
His own mother wrote a letier to the king
complaining of the appointment. However, he
was very wealthy and powerful, and proved to
be an excellent planner - his preparations for
the Armada were superb.  Ultimately, his
inexperience in battle proved to be costly a5 a

helped contribute to the Spanish defeat.

L

Trade and
Piracy

ﬁ?saa of Mary o.,_n%

O Scors in 1587

-

s&mm _

Gy
(3 Q&Q

7 Reazons for the Revolt of the Northern Earls

‘_u.a_a.nm_

Elizabeth  had  weakened
many northern  nobles by
removing lend and power.

pﬁn.m The Council of tha Marth, not

ﬁﬁ 9%% traditional nobility, had taken
,./n_.& & over government of the
m%_.x a_w.o. north. They ako demanded
o Elizabeth remove her ‘evil

L
~I” Religious
d

The Catholic Northern Earls
began the rebellion with a
mazs.  They wore Catholic
emblems and demanded a
return to Catholicism and an
end to Mary, Queen of Scots'
imprisonment,  planning  to
marry her to the Catholic Duke
of Norfolk

e Personal

Many nobles were facing
financial hardship 25 a result
of their boss of land. They also
feared  punishment  for
planning the Morfolk wedding
50 rebelled  our  of
desperation.  Many of the
rebels acted rashly and

i .‘.wh Factors leading to I
- the Armada J

coundillors'.

without thinking.

Reasons for the failure of the Revolt of the Northem Earls

——

7 Reasons for defeat of the Spanish Armada 7

Lack of strong leadership

English Spanish
Lack of clear plan
» Excellent leadership = Poor leadership — lack of
»  Drake's actions in Cadiz causing experience and lack of flzuability
disruption and delzy = Comphicated plan Lack of domestic suppart
»  Innovative English tactics such = Lack of communication
as fire ships = Imgractical tactics and weapons | | Lack of foreign suppart
+  Home advantzge - knowledge
of the Iocal area Neither
»  More effective weapons «  Thewind and stormy seas DeCisive response

The Earls of Morthumberiand and Westmorand were not

capable lzaders. and panicked.

The earls couldn't decide if they wanted Mary to

immediately replace Elizabeth, or just be named as her heir.

The leaders" appesl to ather Catholic nobles was ineffective.

The three key Catholic powers - Spain, France, and the

Pope, failed to offer their suppart for the revolt.

Elizabeth raised & large army commanded by Sussex.

The Catholic Plots against Elizabeth 1571-1586

The Ridolfi Plot 1571

The Throckmorton Plot 1583

The Babington Plot 1585

Plan:
hary, Queen of Scots used an Italizn banker called
Roberto Ridoffi to attempt to coordingte an invasion of
englznd By the Pope and Fhilip 1l of Spain. An invasion
from the Netherlands led by the Spanish Duke of Alva
wiould rastore Catholicism, and the Catholic Duke of

Morfolk waould marry Mary, who would become queen.

What happened?

Ridalfi met with Alva but 5pain wouldn't commit to
supparting the plan until Efizabeth had already been
overthrown. Elizabeth's spies found details of the plot
and arrested the Duke of Norfolk. The plot fell apart.

Outcome:
The Duke of Morfolk was exsouted. The plot increased
fears of Cathalic interference in Elizabeth's reign and
she came under pressure to take a tougher stance.

Plan:

The plan, probably concocted by an English Cathalic
alled Frands Throckmorton, was for @ simultaneous
Catholic uprising in England and an invasion by the
French Duke of Guisz, all financed with Spanish money.
The plot wauld put Mary on the throne, restore
Cathalicism and potentially kil Elizabeth.

‘What happened?

Throckmorton's house was searched by Elizzbeth's
spies. A list of English Catholic sympathizers was found,
induding some in Elizabeth's court. The plot never got

anywhere as expected Spanish funding naver armived.

Outcome:
Elizabeth's advisors began to actively search for Mary's
inwalvernent in plats, as they felt that they would never
stop whilz she lived. Spanish ambassador was expelled.

Flat:
ir Anthony Babington wrote to Mary, who was
unaware she was under surveillance, with a plan for a
foreign Catholic invasion of England, the installztion of
Mary an the throne, and crucizlly, the murder of
Elizabeth.

‘What happenad?

Mary responded to the letters, 2nd Elizabeth's spies
allowed the comespondence to continue. Eventually,
Miary wrote in a letter details of Elizabeth's
ass3ssingtion. Satisfied she could no longer derny her
guilt, Elizabeth's spies arrested Mary for treason.

Outcome:
host of the pletters were rounded up and immediately
executed. After months of delay, Elizabeth signed
Many's death warrant and she too was executed.
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HT2 .
Design & Technology Powerful Knowledge

Y10 .
Designing for a purpose.
During this term students will be looking designing a piece of 'Flatpack Self Assembly
Furniture'. They will be looking at and developing models and a prototype from

. . NE
various materials ok dasign Main design
’ influence Example influence _Example
Aesthetics . Anthropometric

Chair designed by o

made from a

Looking at : Verner Panton, ' s e
* Product Safety e /
e Standards that have to be met v
When designing a product. e Ee £
* The kite mark by i shoppin ey = {%
* Quality Control if 3\ A
* Quality Assurance | TR
* How todraw an Exploded e : r;tg‘h
view.
* How to draw and construct a
prototype
Card model of your chair. — = p;ﬂ
* How to draw an Isometric “"’.”m chair
CAD drawing. cadbows

EPOS

= Electronic point of sale

$599+ Can. $7.99 @ «
Vi
REMARKABLE Our values: Excellence & Kindness
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Y10

Music Powerful Knowledge

What are we learning about?

How| do we describe a melody?
Keywords

How do | practice Score analysis?
How do you identify a Chord
within a Score for multiple
instruments?

Where do we find Cadences?

F. Self-Assessment

w P

o0

B: Keywords
Ascending / Movement up and down

Descending

Oboe High pitched woodwind instrument with a
Reed

Bassoon Low pitched woodwind instrument with a
Reed

Anacrusis Upbeat to a piece of Music

Flute High pitched woodwind instrument
Inversion Type of change related to a Chord or
difference in Pitch

Keywords for this Half Term
Ascending / Descending
Oboe
Bassoon
Anacrusis
Flute
Inversion
Stab Chords
French Horn
Cadence

Stab Chords
French Horn
Cadence

Very sudden quick Chord
Circular Brass instrument

Ending of a Phrase

A:
How do we describe a melody?

St pipmprasy TR
Melody - tune & Ferzst==frrierizsriss

itch = wheshee the s
bigh, eniselles ar b
called registar.

11,1

T A\
eirg lower n prich,

Melody - tune  degeresisrinoimemedie e

ascending— the melody s risag

ingitch. ’A

Basic way
to describe
a melody

==

conjunct - The mesady i mainly sjunet = Tha mesiory i mans

ming in sz, o
- T J
‘-F‘ Further
ways to
sriadkc — Uses the nates af a describe a Scalyz—when & gassip
triad. in 3 series af & rates or
: ] doan.
B ~7
arpEio = When the rates of a chocd.
ara i
Melody - tune 7§ zr= -
: =

Chromatic - the melody maves in
semitaes, The notws don't belsog 1o

o <

rapatitian = whan tha musical
ez e regaatag

Biatonic - the notes belong 1o the

sequence= repetition of 3 musical idea
at higher oo lomer

Melody - tune &

b Biues notes — natos uzsd In fasz e
e it saund azey. Flattened rates
i jocz scale

Enhanced
ways to
describe a
melody

Fiff-3 shart repeated
whrese, Often found in
pepuia

fanfare- 2 musical
anncuncement based en
appaggist the nates of 3 chard.

ormamentation - used to decarate’
& melody - trills, acciaccatura,

"
-

C:
How do | practice Score analysis?

Ornaments
sitbar ndbae
——
Trill kapid alternation between twe Aotes
e — | a1 e
B = T P;“;- = 5= i
o 77 11 1 T winsn =
wmser 1 2 P H I

Appoggiatura the grace note takes kaff the value of the main note and aften the
neto GEave o peigw

@ = = T - = F
Key - Py

Accisccatura a very quick note before the main note

(_g".- T

Order of Flats and Sharps

Friznds CanSa Dancing And Est Burgers

D:
How do you identify a Chord within a Score for multiple
instruments?

Alto clef A mizdia register. Usad for viola mainly.

Eo s o o ° o

When the C Clef is around the center line of the stalf, it is
called the aito clef All notes on the 3 line will be middle €

Treble clef & high register cverall, Used for instruments such as fute, violin
Treble Clef Notes

gro=rinos oo i;; - e T
£L3 it =
o o v © it
o a [ © o E Foet
+l

E F & a B C B E F
All the other nates an the staff will count up and down

Line Hotes Space Notes slghabetically fram middle C.
o o
o
Dl - v —
EGBDF Foa ook Dominant 7 chord Chard ¥ in 3 key. with the addad seventh on ton.
Chards: Witk 01 2 haid £hart for i by [mith il 7 ehiids and alss dd sevenths 6o eords 1LY, VI
Bass clef A low register averall. Used for instruments such as cello, bass. e
rard Wt s - =
= [T “ "
- i c ' 3
o T ———————— [ o ¥ n <
i" il ) 3 [3 M|
2 3 ; 3 c
———— —————— v s 0 o] G
) x < e
Uinas: Groen Busas Orive Fast Abways n v 3 (| .
[s] Semibreve 4 beats
Minim 2 boats
<
Crotchat 1 boat
.
N Quaver % baat
-
} Semi-quaver 1 beat

REMARKABLE

Our values: Excellence & Kindness
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HT2

Drama Powerful Knowledge

Y10

Stimulus

* Astimulus is a starting point to generate ideas. It may be a picture, song, poem, short story,
object, or even just a word!

* Itis meant to be explored, discussed and used to create an original piece of drama.

* The final piece of drama does NOT need to resemble any starting stimulus — the stimulus is
simply the starting point in order to generate ideas to explore.

* For your project, EDUQAS provides you with a range of stimuli to choose from.

Practitioner
Remember: Your piece needs to be influenced by one practitioner. Ensure that this is explicit with the
most amount of skills used and focuses on the same aim as they do. If not, you can not reach the higher
bands.

Vocalskils | Definion __| ________Bample _______

P - Pitch How high or low you voice sounds.  High squeaky voice or low deep voice.

| — Intonation How clearly you speak Mumbling or saying every word clearly

P - Pace The speed in which you speak Fast or slow

E — Emphasis The importance you put on certain  Using volume or pause to highlight a word. |
words (pause) AM right

D - Dynamics The volume that you are speaking Loudly or quietly
at.

B — Breath Control How many breaths you takein a Do you take lots of breaths or none atall
sentence.

A - Accent The way you pronounce words America, Australian, Jamaican, British

P - Pause How many breaks you take | am (pause) NOT going to see you again

P - Posture The way you Hunched back, straight back

E — Eye Contact Where you are looking Staring, looking at the floor, quickly

looking

T - Tension How tight or relaxed your body is Clenched fists, locked knees

F — Facial Expression How you are modifying your face Closed Eyes, Wide open mouth

L - Levels The heights used within the performance. Standing on toes, crawled up in a

ball

A - Action Movements that have specific meanings Thumbs up, waving, peace sign

G - Gait The way you are walking Skipping, stomping, floating

S - Space The area that you are using Are you standing close or far away

REMARKABLE Our values: Excellence & Kindness
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BTEC Sport

FLEXIBILITY TEST
The Sit and Reach Test Measures Leg and Back Flexibility

Sit and Reach Test — Standard procedure

. T —
Equipment: tape measure, box. 7 l

=i

1) The sports performer sits on the floor with their legs straight out.

2) Abox is placed flat against the sports performer’s bare feet.
3) The sports performer reaches forward as far as they can. -

5) The sports performer gets three turns. Their best score is recorded.

)
)
4) Another person measures the distance from their feet to where they reach with a tape measure.
)
)

6) The results of this test are usually given in centimetres (cm) or inches.

SPEED TEST
The 30 Metre Sprint Test has a Standing Start

% A\

1) 30 metres is marked out on a flat running surface using a tape measure.
2

30 Metre Sprint Test — Standard procedure

Equipment: tape measure, cones, stopwatch.

On the word ‘GQ’, the sports performer runs the 30 metres as fast as they can.

o

Another person uses a stopwatch to time how long it takes.

ey

Their best score is recorded.

U

)
)
) The sports performer gets three turns (with a few minutes to recover in between).
)
)

6) The results of this test are usually given in seconds.
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